FAGIORYZAUTOMATION

AtE0| ZHEsta #|2

O|L|E ZE M

ML1oo A|2[=

USER-FRIENDLY LIKE NO OTHER
MINIATURE PHOTOELECTRIC SENSORS
SERIES ML1oo

2 PEPPERL+FUCHS

SENSING YOUR NEEDS



POWERBEAM ML1oo A|2|=

LOL
1
]
e

FEl I BH
RMRENRY

|
& E= 254 mm M3

EH
Y
I

2

i
-
Ja

NN
O
~
O Ik
O
A

L
=
fim

0

Etel, M8 4 & HHEE EHY



n
=
(.
Ll
=
wl
0

HE &2

2l =

==

I

=
=

=

S

=

=2

LED X[A|
S el

=
O
X0
=
m
Q

@)
=
[V}

4ol HE

b

3
=

o X2
|CH -30%C

X

-
e

ML1oo A|2|=

o O4X| Moz
A2 M2 <20mA

HEFE

i
i

2} g oHEN oz 24X
CI X2l ML100-8-W

=S
=

)

(%2
||: gl
— 0

°
2o




. HMZ MA SELECTION

°t0|= & E|F kAL EFY) ZIF AL EFY BGS7| 52| =L B} | HEEE 7|59 ghAbE Bt
Qs ZHR| 742| 0 - 200 mm 0 - 1000 mm 0-350 mm 0-5m
Z|oi ZA[ 742 - - - 7m
2 — Aol=| ML100-8-W-200-RT/102/115 ML100-8-1000-RT/102/115 ML100-8-H-350-RT/102/115 ML100-55/102/115
V31 Et - ML100-8-1000-RT/95/102 ML100-8-H-350-RT/95/102 ML100-55/95/102
=N #Aol= - ML100-8-1000-RT/103/115 ML100-8-H-350-RT/103/115 ML100-55/103/115
V31 Etl - ML100-8-1000-RT/95/103 ML100-8-H-350-RT/95/103 ML100-55/95/103
EXS HZE WE, 200 x 200 mm HZE WE, 100 x 100 mm HZE WE, 100 x 100 mm ORR50 ZFAHEH
S/MMT} < 18 % (350 mmI XI)
ey MAMIAIZ LED MAMIEAIZ LED MAMIAIZ LED HAMIAIZ LED
AE X2 170 mm (200 mm I Xl ) 75 mm (1 m®IXl) 20 mm (350 mm<I XI) 500 mm (7 m2 XI)
UA==H ts ts s s
LO/DO =3 7|5 ts ts ts ts
e 0.5ms 0.5 ms 1ms 0.5 ms
293 Fot 1000 Hz 1000 Hz 500 Hz 1000 Hz
=4 /102 T NPN T NPN TNPN TNPN
/103 1 PNP 1 PNP 1 PNP 1 PNP
SotdF = CH100 mA
HAEE <1.5VDC
cletEs s
HaMES s
Zaxof 10-30VDC
)= 10%
REHE ALEN SM|ED : ZSH
SMED : DA
FE5E oHIHF <20 mA
zF EN 60947-5-2, EN50178, UL 508
E2sS& (EC) IP65 / IP67
e As2n 30 ... 60°C (243 ... 333 K)
NE=E -40 ... 70°C (233 ... 343 K)
= stoxl EREPOY
2= PMMA
=t 10g
PIEM CE, cULus
Al /115 2mA OIS EtY (34) 2mA OIS EtY (34) 2mA OIS EtY (34) 2mA OIS EtY (34)
/95| 4Bl MS x 1 HEHE (V31) 4B M8 x 1 HUE (v31) 4B M8 x 1 HUE (v31) 4T M8 x 1 HUE (v31)

ML100-8-W-200-RT ML100-8-1000-RT ML100-8-H-350-RT ML100-55
xSy xSy ZxISY xSy
IAlY [mm] MY [mm] IMY [mm] QUMY [mm]
80 20 8
60 15 6
40 S / 10 4 \ =
20 — 5 e d 2 —
—___ = \/
0T =C =N o 4 e
-20 —= 5 - 2 /\ =
\ S — /
-40 10 -4 0
-60 15 6 0 2 4
w0 20 8
50 100 150 200 250 - h —
el X 200 400 600 800 1000 1200 0 . 100 200 00 N 400 p—
42| X [mm] 712 (214 90 %) X [mm] M




FrEEY e e
oHst ZHR| Hz| 0-10m 0-20m 0-15m
2o ZX| Az 15m 30m 20m
=l NP AHols M100/MV100-RT/76b/102/115 M100/MV100-RT/35/76b/102/115 M100/MV100-IR/76b/102/115

V31 Ebe M100/MV100-RT/76b/95/102 M100/MV100-RT/35/76b/95/102 -
onp Alol= M100/MV100-RT/76a/103/115 M100/MV100-RT/35/76a/103/115 -
V31 Etgl M100/MV100-RT/76a/95/103 M100/MV100-RT/35/76a/95/103 M100/MV100-IR/762/95/103
=3xS =2 =& =2
22 = MILAIZ LED = MILAIZ LED =9l LED
AZ XS 1Tm(15mRAXI) 2m (B0m<SAXI) 1.5m (20 m%I 1)
2ExH ots s s
LO/DO =H 7|5 s Its ts
SEEs 0.5ms 2ms 2ms
2902 Foi 1000 Hz 250 Hz 250 Hz
&= /102 1 NPN 1 NPN 1 NPN
/103 1 PNP 1 PNP 1 PNP
ST Z| TH100 mA
MAEE <1.5VDC
Clete s s
HAIMES s
Er=ran] 10-30VDC
1= 10%
BSAlE] S LED : ZHSALEY
SMIED : MAAEY

Pt 2H[EF EZR:<15mA; $22:<8mA
=2 EN 60947-5-2, EN50178, UL 508
Hs&55 (EC) P65 / 1P67
EH2E AERE 30 ... 60°C (243 ... 333 K)
N2 40 ... 70°C (233 ... 343 K)
= stz EE=EN
EIES PMMA
Er % 20g
CIZA CE, cULus
AN /115 2mA 0l Et (34) 2mA 0l Et (34) 2mA0I2 EtY (34)
/95 4T M8 x 1 HHE (V31) 4T M8 x 1 HEH (V31) AT M8 x 1 HEH (V31)

M100/MV100-RT

M100/MV100-RT/35

Mz100/MV100-IR

— ]

= = E
RISy xSy xSy
QI Y [mm] QI Y [mm] QY [mm]
600 1200 250
500 1000 200
400 / 800
150
300 600
100
200 400
100 200 50
10 o / 0 [
el X ] 0 2 4 10 12 14 16 0 5 10 20 25 20 35 5 10 15 20 25
X 72l X [m] X 72l X [m] X 72l X [m]




M|AM2| DIMENSION, ELECTRIC CONNECTION & ACCESSORIES

2IER|S (mm)

/115

20

M3

12.1

suR . . i N
. M E | R
s I|
\ s
EEm Ii A
II
=
233 {{'}r' q
1 |LO/DO =X HE - 4
2 | HAETHHE
3 | ZtSAEY M
4 | MUMEY S
a4
DC EI!
ZIekAL 28} 2 SERY (TR
=l Alol= Et (/115) 7{4le] EFR] (/95)
Ic /102 E1=N 102 ac. 102
NPN BN |—+UB 1 —+uB
®/0 ®/0
BK —Q 4 |—Q
BU [—0V — 3 —ov
/103 Ic. 103 AE: 103
PNP BN }—+UB ————— 1 —+UB —— —
BK (—Q 4 -0
®/0 ®/0
BU |—oV 3 |—ov
25 SuEl (FER)
ZM Alol= Et (/115) 7{4le] EF2] (/95)
Fl= /764 1= 76a 76b 1=N 76a 76b
E"ﬁE @E_ﬂ‘ . BN (—+UB 1 }—+UB
24V DC HAZAl, E22 XHH
HAE HAE
WH [—EAE @2 \ " 2 |—HAE o \ -
/760 ‘ ‘
HAE 21 EHAE\ amg\
OVAZEAl, S22 XHH BU [—0V 3 oV
O =Lighton * LO/DO HECE LO/DOEZ S MAE 5 UBLITH
@® =Dark on



5.31

245

o

0
=i

of

e

21,5402 6

OMH-ML100-03

A-A

gALE

REFLEKTOR Hs0
ORR50
HEALEH (50.9 mm x 50.9 mm)

50.9

4.3

40
50.9

OMH-ML100-01

ey

jy:

.
=
%

OMH-ML100-04

(=

REFLEKTOR H60
HEAFE (40.5 mm x 60 mm)

40.5
34 +05

60

7l

M8x1

OMH-ML100-02

1A g

OMH-ML100-05

R25.L

36.2

7]
D

W

J

20

V31-GM-2M-PVC
2m70|=

‘ 33 ‘ L
SI% BEa %é:

V31-WM-2M-PVC
2mA0|Z, go= dE

19

M8 x1




FACTORY AUTOMATION -
SENSING YOUR NEEDS

— TS
o
—_—T

HEMHEZATE|O} (F)

MEA| MET il S 895-2 YA|2E 11 5
(5 )137-060

Tel: 02-3481-9494

Fax : 02-3481-9495
E-mail: fa-info@kr.pepperl-fuchs.com

Ol

(<)617-809 r .
Tel: 051-322-6846
Fax: 051-322-6847

HAIAH A

Pepperl+Fuchs GmbH - Mannheim - Germany

E-mail: fa-info@pepperl-fuchs.com

02X 2A}

Pepperl+Fuchs Inc. - Twinsburg - USA

E-mail: fa-info@us.pepperl-fuchs.com

OfA|O} - EHE 2t K|S AL

Pepperl+Fuchs Pte Ltd - Singapore L

Company Registration No. 1999003130E
E-mail: fa-info@sg.pepperl-fuchs.com

www.pepperl-fuchs.co.kr 2 PEPPERL+FUCHS

SENSING YOUR NEEDS

Subject to reasonable modifications due to technical advances e Copyright PEPPERL+FUCHS e Printed in China e Part. No. 810739 02/11 01

_



